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Power and Sample Size

Test for Two Proportions

Testing proportion 1 = proportion 2 (versus not =)
Calculating power for proportion 2 = 0.33
Alpha = 0.05
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Power and Sample Size

Test for Two Proportions

Testing proportion 1 = proportion 2 (versus not =)
Calculating power for proportion 2 = 0.09
Alpha = 0.05
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Test and Cl for Two Proportions

Sample X N Sample p
1 5 65 0.076923
2 19 65 0.292308

Difference = p (1) - p (2)

Estimate for difference: =-0.215385

95% CI for difference: (-0.343533, -0.0872365)

Test for difference = 0 (vs not = 0): 2Z = -3.29 P-Value = 0,001
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Power and Sample Size

Test for Two Proportions

Testing proportion 1 = proportion 2 (versus not =)
Calculating power for proportion 2 = 0.23
Alpha = 0.05

Sample
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Test and Cl for Two Proportions

Sample X N Sample p
1 67 74 0.905405
2 59 75 0.786667

Difference = p (1) - p (2)

Estimate for difference: 0.118739

95% CI for difference: (0.00453801, 0.232939)

Test for difference = 0 (vs not = 0): 2 = 2.04 P-Value = 0.042
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Power and Sample Size

Test for Two Proportions

Testing proportion 1 = proportion 2 (versus not =)
Calculating power for proportion 2 = 0.11
Alpha = 0.05

Sample
Proportion 1 Size Power
0.25 135 0.904761
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Test and CI for Two Proportions
Sample X N Sample p
1 120 149 0.805369
2 113 137 0.824818

Difference = p (1) - p (2)
Estimate for difference: -0.0194484
95% CI for difference: (-0.109409, 0.0705118)

Test for difference = 0 (vs not = 0): 2 = -0.42

P-Value = 0.672
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